
130 m

135 m

140 m

145 m145 m

130 m

135 m

140 m

145 m145 m

0+000 0+100 0+200 0+300 0+400 0+500 0+547

r

z

ę

d

n

e

r

z

ę

d

n

e

 Rzędne projektowane 

1
3
8
,
7
8

1
3
8
,
5
8

1
3
8
,
5
1

1
3
8
,
4
9

1
3
8
,
5
4

1
3
8
,
6
1

1
3
8
,
6
3

1
3
8
,
7
2

1
3
8
,
7
5

1
3
8
,
7
8

1
3
8
,
7
8

1
3
8
,
7
6

1
3
8
,
7
3

1
3
8
,
6
5

1
3
8
,
5
7

1
3
8
,
4
9

1
3
8
,
4
8

1
3
8
,
4
6

1
3
8
,
4
7

1
3
8
,
5
2

1
3
8
,
5
9

1
3
8
,
6
5

1
3
8
,
6
6

1
3
8
,
6
7

1
3
8
,
6
7

1
3
8
,
6
6

1
3
8
,
6
4

1
3
8
,
6
0

1
3
8
,
5
4

1
3
8
,
4
8

1
3
8
,
4
2

1
3
8
,
3
7

1
3
8
,
3
5

1
3
8
,
3
5

1
3
8
,
3
5

1
3
8
,
2
9

1
3
8
,
2
3

1
3
8
,
1
8

1
3
8
,
1
6

1
3
8
,
1
5

1
3
8
,
1
5

1
3
8
,
1
9

1
3
8
,
2
5

1
3
8
,
3
0

1
3
8
,
4
5

1
3
8
,
6
6

1
3
8
,
8
6

1
3
8
,
8
7

1
3
8
,
9
4

1
3
8
,
9
4

 Rzędne istniejące 

1
3
8
,
7
8

1
3
8
,
5
4

1
3
8
,
4
5

1
3
8
,
5
0

1
3
8
,
5
6

1
3
8
,
6
5

1
3
8
,
6
7

1
3
8
,
7
4

1
3
8
,
7
2

1
3
8
,
5
1

1
3
8
,
5
1

1
3
8
,
4
9

1
3
8
,
5
0

1
3
8
,
5
9

1
3
8
,
4
6

1
3
8
,
4
0

1
3
8
,
4
0

1
3
8
,
4
1

1
3
8
,
4
1

1
3
8
,
4
4

1
3
8
,
5
4

1
3
8
,
5
0

1
3
8
,
4
6

1
3
8
,
2
7

1
3
8
,
2
7

1
3
8
,
2
7

1
3
8
,
2
9

1
3
8
,
3
7

1
3
8
,
4
0

1
3
8
,
2
7

1
3
8
,
2
7

1
3
8
,
3
2

1
3
8
,
3
4

1
3
8
,
3
5

1
3
8
,
3
5

1
3
8
,
3
8

1
3
8
,
4
3

1
3
8
,
5
0

1
3
8
,
5
2

1
3
8
,
5
4

1
3
8
,
4
8

1
3
8
,
1
0

1
3
8
,
0
0

1
3
8
,
0
6

1
3
8
,
2
2

1
3
8
,
4
1

1
3
8
,
7
2

1
3
8
,
7
4

1
3
8
,
9
3

1
3
8
,
9
4

 Pochylenia i łuki pionowe 

L

=

 

1

3

,

7

4

i

=

 

-

1

,

4

9

%

Ł= 15,44

T= 7,72

R=-800,00

L

=

 
5

8

,
3

1

i
=

 
0

,
4

4

%

Ł= 25,09

T= 12,54

R=3000,00

L
=

 
7
0
,
1
2

i=

 
-
0
,
3
9
%

Ł= 21,29

T= 10,65

R=-3000,00

L

=

 
5

9

,
1

3

i
=

 
0

,
3

2

%

Ł= 18,85

T= 9,42

R=3000,00

L
=

 9
9
,2

8

i=
 -

0
,3

1
%

Ł= 0,05

T= 0,02

R=-300,00

L

=

 
6

4

,
5

8

i
=

 
-
0

,
3

0

%

Ł= 39,83

T= 19,92

R=-3000,00

L

=

 
6

1

,
7

0

i
=

 
1

,
0

3

%

 Proste i łuki poziome 

L=55,72

R=90m

L=46,20

L=176,76

R=-15m

L=10,40

L=86,82 L=76,09

R=300m

L=19,29

L=69,29

R=20m

L=6,40

L=0,44

 Wysokość nasypu 

0
,
0
4

0
,
0
6

0
,
0
3

0
,
2
7

0
,
2
7

0
,
2
7

0
,
2
3

0
,
0
6

0
,
1
1

0
,
0
9

0
,
0
8

0
,
0
5

0
,
0
6

0
,
0
8

0
,
0
5

0
,
1
5

0
,
2
0

0
,
4
0

0
,
4
0

0
,
3
9

0
,
3
5

0
,
2
3

0
,
1
4

0
,
2
1

0
,
1
5

0
,
0
5

0
,
0
1

0
,
0
9

0
,
2
5

0
,
2
4

0
,
2
3

0
,
2
5

0
,
1
4

0
,
1
3

0
,
0
1

 Głębokość wykopów 

0
,
0
1

0
,
0
2

0
,
0
4

0
,
0
4

0
,
0
2

0
,
0
9

0
,
2
0

0
,
3
2

0
,
3
6

0
,
3
9

0
,
3
3

 Odległości 

0
0
0
,
0
0

0
1
3
,
7
4

0
2
0
,
0
0

0
2
9
,
1
8

0
4
0
,
0
0

0
5
5
,
7
2

0
6
0
,
0
0

0
8
0
,
0
0

0
8
7
,
4
9

1
0
0
,
0
0

1
0
1
,
9
2

1
1
2
,
5
8

1
2
0
,
0
0

1
4
0
,
0
0

1
6
0
,
0
0

1
8
0
,
0
0

1
8
2
,
6
9

2
0
0
,
0
0

2
0
3
,
9
9

2
2
0
,
0
0

2
4
0
,
0
0

2
6
0
,
0
0

2
6
3
,
1
2

2
7
8
,
6
8

2
8
0
,
0
0

2
8
1
,
9
7

2
8
9
,
0
8

3
0
0
,
0
0

3
2
0
,
0
0

3
4
0
,
0
0

3
6
0
,
0
0

3
7
5
,
9
0

3
8
0
,
0
0

3
8
1
,
2
5

3
8
1
,
3
0

4
0
0
,
0
0

4
2
0
,
0
0

4
4
0
,
0
0

4
4
5
,
8
8

4
5
1
,
9
9

4
6
0
,
0
0

4
7
1
,
2
9

4
8
0
,
0
0

4
8
5
,
7
1

5
0
0
,
0
0

5
2
0
,
0
0

5
4
0
,
0
0

5
4
0
,
5
7

5
4
6
,
9
7

5
4
7
,
4
2

h
 
=

 
1

3
8

,
7

8
 
m

W
 
k
m

 
0

+
0

0
0

,
0

0

h
 
=

 
1

3
8

,
4

6
 
m

W
 
k
m

 
0

+
0

2
1

,
4

6

h
 
=

 
1

3
8

,
4

9
 
m

H
m

i
n

 
k
m

 
0

+
0

2
5

,
6

5

h
 
=

 
1

3
8

,
8

1
 
m

W
 
k
m

 
0

+
1

0
0

,
0

3

h
 
=

1
3

8
,
7

8
 
m

H
m

a
x
 
k
m

 
0

+
1

0
0

,
7

5

h
 
=

 
1

3
8

,
4

4
 
m

W
 
k
m

 
0

+
1

9
3

,
3

4

h
 
=

 
1

3
8

,
4

6
 
m

H
m

i
n

 
k
m

 
0

+
1

9
4

,
5

2

h
 
=

 
1

3
8

,
6

9
 
m

W
 
k
m

 
0

+
2

7
2

,
5

4

h
 
=

1
3

8
,
6

7
 
m

H
m

a
x
 
k
m

 
0

+
2

7
2

,
5

9

h
 
=

 
1

3
8

,
3

5
 
m

W
 
k
m

 
0

+
3

8
1

,
2

8

h
 
=

 
1

3
8

,
1

4
 
m

H
m

i
n

 
k
m

 
0

+
4

5
4

,
7

9

h
 
=

 
1

3
8

,
1

0
 
m

W
 
k
m

 
0

+
4

6
5

,
8

0

i=

-
1
,
4
9
%

L
=

1
3
,
7
4
m

i=
0,4

4%

L=58,3
1m

i=-0,39%

L=70,12m

i=0,32%

L=59,13m

i=-0,31%

L=99,29m

i=-0,30%

L=64,58m

i=
1
,0

3
%

L
=

6
1
,7

1
m

Sanie-Dąb droga wewnętrzna 3


